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Q8 If Z is 19th to the right of Y and Y is 7th to the left of X. X is 25th
from any one of the end and there are four students to the right of Z
then fiqd out the total number of s:tudents of the row? Ife Z, Y 3? e
¥ 19a7 § AR ¥, X & 9 & 747 §1 X e v s @ 2541 7
3 zF et 3T IR OF §, A 9Fd A SEl fA T TEAT AT
$Ifoe?
- (1) 35
- Fihy M (2) 41
(3) 36
‘Z—@ ™M (4) None of these
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Q8 What is the 13th letter of the English Alphabet?
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Q10. There are 104 students in the row. A is 28th from the left side and
B is 38th from the right side. If C is 7th to right of the middle of the A &
B then find out the C's rank from the right side ?
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Q11. There are 105 students in the row. A is 28th from the left side and
B is 38th from the ri; right side. If Cis 7th to right of the middle of the A &
B then find out the C's rank from the right side ?
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Q12. Three persons A, B and C are standing in a queue. There are five
persons between A and B and eight persons between B and C. If there
be three persons ahead of C and 21 persons behind A, what could be
the minimum number of persons in the queue? GIGECIEGEW: AR
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Q12. Three persons A, B and C are standing in a queue. There are five
persons between A and B and eight persons between B and C. If there

be three persons ahead of C and 21 persons behind A, what could be
the minimum number of persons in the queue?
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Q13. In a row, Kumar is at 7th place from the left and Pawan is at 9th
place from the right. When they interchange the positions Kumar

becomes 11th from left. How many were seated in the row ?
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Q13. In a row, Kumar is at 7th place from the left and Pawan is at 9th
place from the right. When they interchange the positions Kumar
becomes 11th from left. How many were seated in the row ?
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Q13. In a row, Kumar is at 7th place from the left and Pawan is at 9th
place from the right. When they interchange the positions Kumar

becomes 11th from left.
1.NEW POSTION OF PAWAN FROM RIGHT EN &

2. TOTAL NO OF STUDENT -
3. MID NUMBER BETWEEN KUMAR AND PAWAN
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Q14 In a row, saMar is at 27th place from the left and Pawan is at 39th
place from the right. When they interchange the positions samar
becomes 15th from left. How many were seated between pawan and

samar ?
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Q14 In a row, saMar is at 27th place from the left and Pawan is at 39th
place from the right. When they interchange the positions samar
becomes 15th from left. How many were seated between pawan and

samar ?
A) 13
B) 12
C) 11
D) not

(Suman Pewaly

Ponh Suln
| 2% 2

39415 = 5Y.
|

234 39
e &

pm—

26 — (33+Z}

= 66~55
—(\ ¥

]




Q14 In a row, saMar is at 27th place from the left and Pawan is at 39th
place from the right. When they interchange the positions samar
becomes 15th from left. How many were seated between pawan and
samar ?
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Q15. How many combinations of two-digit numners having 8 can be
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Q15. How many combinations of two-digit numners having 8 can be
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Q16. 517 325 639 841 792
What will be the first digit of the second highest number after the
positions of only the 2nd, 3rd digits within each number are

interchanged?
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Q17.382 473 568 728 847 629
If 382 is written as 238, 473 as 347 and so on, then which of the
following two numbers will have least difference between them?
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Q14 In a row, saMar is at 27th place from the left and Pawan is at 39th
place from the right.If Rahul is exactly mid between Samar and Pawan .
Then find the position of Rahul from left end if total number of student
is 101. T UfFd A, FAX T § 279 T W ¢ 33 999 g
¥ 397 TUT W gl IfE gl 8T 3R yaad & s AT A
aﬁma’ra?raﬁrawm’? g dl 91 8RN & [EA HT TUW A
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A) 44
B) 42
C) 45
D) not
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